
 Today’s Number 1. Simplify       2.  Factors 

3. Geometry   4. Measurement   

5. Product/Quotient  6. Place Value  

7. Decimal 8. Fraction  

9. EOG REVIEW 

 

Write an equation that represents 2 more than 465 plus 371 
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           100 

A brick has a mass of 
1,200 grams. What is the 
mass of the brick in 
kilograms? 

. 

Guy is reading a science fiction 
book that is 558 pages long. If 
he reads 28 pages each day, 
how many days will it take him 
to read the book? 

Levi said 26.247 rounds to 26.3 
to the nearest tenth. Amaya 
said 26.347 rounds to 26.25 to 
the nearest hundredth. Who is 
correct? 

Francis has 5 1/6 yards of red 
yarn and 2 2/3 yards of blue 
yarn. How many yards of yarn 
does she have in all? 

Tyler walked 10.4 km and ran 4.6 
km. How much further did he walk 
than run? 

A box has a volume of 240 
cubic inches. The width is 6 
in and the height is 5 in. 
What is the length of the 
box? 


